
Assembly Instructions 
Instructions d'assemblage

Instrucciones de montaje

Cordless Drill

Spade Bit

Drill Bit

Chisel

Phillips Screwdriver

Hammer

Tools Required • Outils requis • Herramientas requeridos

CONTENTS	 Quantity	

A.	 Front Plate	 1

B.	 Back Plate	 1

C.	 Strike Plate	 1

D.	 Washer	 4

E.	 Fastener (M3.5 x 20)	 2

F.	 Fastener (M5 x 30)	 2

#310545 (1116)SLIDING DOOR HARDWARE - BARN DOOR LATCH & STRIKE PLATE 
QUINCAILLERIE POUR PORTE COULISSANTE - LOQUET ET GÂCHE POUR PORTE DE GRANGE 
HERRAJES PARA PUERTA CORREDIZA: CERROJO Y PLACA DE CERRADURA  
PARA PUERTA CORREDIZA 
DL-FABK, DL-FABZ, DL-FASN, LT-SS-23

Perceuse sans fil

Foret à trois pointes

Mèche

Ciseau

Tournevis Phillips

Marteau

Taladro inalámbrico

Broca plana

Broca

Formón

Destornillador cruz

Martillo

B
A

C

D

E

F

CONTENU	 QUANTITÉ	

A.	 Plaque avant	 1

B.	 Plaque arrière	 1

C.	 Gâche	 1

D.	 Rondelle	 4

E.	 Vis (M3.5 x 20)	 2

F.	 Vis (M5 x 30)	 2

CONTENIDO	 CANTIDAD	

A.	 Placa frontal	 1

B.	 Placa trasera	 1

C.	 Placa de cerradura	 1

D.	 Arandela	 4

E.	 Tornillo (M3.5 x 20)	 2

F.	 Tornillo (M5 x 30)	 2

2700 Oak Industrial Drive NE, Grand Rapids, MI USA  49505  |  800.253.1561  |  www.kv.com  |  ©2015 Knape & Vogt®  |  310545 (1116)

Door
Porte
Puerta

Wall
Mur
Pared


